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1LG\D� 6RQLD�� ������ ³5HPDMD GDODP 7UDGLVL EDVDSD GL� 1DJDUL 8ODNDQ��
.HFDPDWDQ 8ODNDQ 7DSDNLV�� .DEXSDWHQ� 3DGDQJ� 3DULDPDQ´�6NULSVL��
0DKDVLVZD� -XUXVDQ 6RVLRORJL�� )DNXOWDV� ,OPX 6RVLDO�� 8QLYHUVLWDV�
1HJHUL 3DGDQJ�

)RNXV� SHQHOLWLDQ LQL UHPDMD GDODP WUDGLVL EDVDSD GL� 1DJDUL 8ODNDQ��
.HFDPDWDQ 8ODNDQ 7DSDNLV�� .DEXSDWHQ� 3DGDQJ� 3DULDPDQ� 5XPXVDQ� PDVDODK�
GDODP�SHQHOLWLDQ LQL�DGDODK PHQJDSD UHPDMD WHUOLEDW GDODP WUDGLVL EDVDSD� 7XMXDQ�
SHQHOLWLDQ LQL DGDODK XQWXN PHQJNDML DODV�DQ UHPDMD WHUOLEDW GDODP WUDGLVL EDVDSD
\DQJ�GLODNXNDQ VHWDKXQ VHNDOL \DLWX SDGD EXODQ VDIDU�

7HRUL \DQJ� GLSDNDL GDODP SHQHOLWLDQ LQL DGDODK� WHRUL 7LQGDNDQ 6RVLDO ROHK
0D[�:HEHU��0HQXUXW�0D[�:HEHU� 7LQGDNDQ� 6RVLDO DGDODK VXDWX WLQGDNDQ LQGLYLGX�
VHSDQMDQJ WLQGDNDQ LWX� PHPSXQ\DL� PDNQD� DWDX� DUWL� VXEMHNWLI� EDJL� GLULQ\D� GDQ�
GLDUDKNDQ�NHSDGD WLQGDNDQ RUDQJ�ODLQ��7HRUL WLQGDNDQ VRVLDO�0D[�:HEHU�\DQJ�WHODK
GLXUDLNDQ PHQMDGL HPSDW WLSH�� \DLWX WLQGDNDQ EHURULHQWDVL� WXMXDQ�� WLQGDNDQ
EHURULHQWDVL�QLODL��WLQGDNDQ�WUDGLVLRQDO��GDQ�WLQGDNDQ�DIHNWLI�

0HWRGH \DQJ� GLJXQDNDQ GDODP SHQHOLWLDQ LQL� LDODK SHQGHNDWDQ NXDOLWDWLI�
GHQJDQ MHQLV VWXGL NDVXV WLSH GHVNULWLI VHUWD� WHNQLN SHPLOLKDQ LQIRUPDQ SXUSRVLYH�
VDPSOLQJ�GHQJDQ MXPODK LQIRUPDQ VHEDQ\DN �� RUDQJ� 'DODP SHQJXPSXODQ GDWD�
GLODNXNDQ�GHQJDQFDUD REVHUYDVL� ZDZDQFDUD�GHQJDQ WHNQLN DQDOLVLV GDWD�GDUL 0LOHV
GDQ�+XEHUPDQ��UHGXNVL�GDWD� GLVSOD\ GDWD��GDQ�SHQDULNDQ�NHVLPSXODQ��

+DVLO�SHQHOLWLDQ� LQL�PHPEHULNDQ�JDPEDUDQ�PHQJHQDL�DODVDQ�PHQJDSD�UHPDMD�
PHQJLNXWL� WUDGLVL� EDVDSD� $ODVDQ� \DQJ� GLEHULNDQ� ROHK� UHPDMD� WHUVHEXW� � VHSHUWL�� ���
.HLQJLQDQ�PHSHUGDODP�LOPX�DJDPD�����0HOHSDVNDQ�1LDW�����0HQJDPELO�SDVLU�PDNDP
6\HNK %XUKDQXGGLQ \DQJ�PHUHND�SHUFD\DL�PHQJDQGXQJ�REDW�GDUL�EHUPDFDP�REDW������
0HQJLNXWL�WUDGLVL�RUDQJ�WXD�

.DWD.XQFL���5HPDMD��7UDGLVL��%DVDSD�
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